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Now that we have solved the problem one way, let’s do it again using a slightly different
approach.

the Compute Q for given values of P, R and N.

pl' Oblen\ Q = P(1 + R/100)N

As usual, we want you to do it. Type as directed below.

SCR First, SCRatch the old program.

10 INPUT P» Ro N
20 LET @ = P#C1+R/7100) *N - Enter the new program

30 PRINT @

99 END

RUN Then RUN the new program.

? 1000, 1, 20 Enter numbers for P, R, N.
1220.19 Here is the answer.

RUN RUN it again.

? 3.6E9, 2, I Enter numbers for P, R, N.
6:651319E+09 Here is the answer.

? iy 35 You RUN it, for your valuesof P, R, N.

< Here is your answer.

In the above program there is only one INPUT statement, but it asks for input
of three numbers, one number for each variable in the INPUT statement.

10 INPUT P» Rs N

? 1000, 1, 20









